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Name - Starttime- _ _: End time-_ _:

Divide 3 digit by 1 digit with remainder:

2 | 249 6 | 1922 3 |338 5 | 538

Word problems:

1.

5 students of class X collected $275 for an orphanage. If each
student contributed an equal amount for the cause, how much
amount of money was contributed by each student?

A train runs 5,58 km in 6 hours. Find the speed of the train in
km/hour.

A truck was carrying 340 chairs, staked in sets of 5 chairs each. How
many stacks of chairs were there on the truck?

840 students were to be seated in 2 rows of an auditorium. If equal
number of students sat in each row, how many students were
there in each row?

Tania has a collection of 550 marbles. She wants to put them in
Jars. She can put 2 marbles in one jar. How many jars does she

need to put all the marbles?

2 3 5 6 8 9
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